SEAM: AMISK B
M HUNE BASH(MSBA/FHAHSNR)

Erol: ZFOI=X B CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
Ab3l = X ot 43,352,322 48,021,827 N4,669,505

= 25,374,999
Fag 1,096,200
== 3,485,390
Al 13,395,733
FoHE SN (MIEX/FASXHERH) 3,597,563 3,368, 161 229,402
= 1,631,517
Fag 805,700
== 467,034
Al 693,312
FOIS X &4 3,597,563 3,368, 161 229,402
= 1,631,517
Fag 805,700
== 467,034
Al 693,312
A3 S X L Bt 49,426 71,064 N 21,638
201 52 A Y| 32,826 47,290 N 14,464
01 Ar®2teltl 13,590 21,590 A 8,000
= 0ff & 13,590 21,590 A 8,000
OAMSIEXAE g & 2IXE
5,000& #3005 1,500
OAS =X E2FA OH &1 1l
000& x5H 9 x12& 4,320
OXNGASEZAHE 8 B L ME
14,300 x 1008 1,430
ORADAILX ME31D= 1,900,000 13 1,900
Ooga ZejaAelAAE 2249
20,000 x 1204 & 240
ogza 2o&H 249 350,000& 128 4,200
02 =524l 19,236 25,700 N6,464
= O] & 19,236 25,700 N6,464
OAS=XNEYSRA 2E Is5UE
=2 40,000 *320H = 12& 15,360
OMIEXNGERF=X 2SS 7Y
210,000& 1201 & 2,520
OAMNSSXNER=X XS HAHMSUHS
156,000& *13] 156
OAMNZEXNHL XMt SXEI(MA, 2L
OO ARZ2 E) 100, 000& * 1204 & 1,200
202  0dd| 14,600 12,200 2,400
01 2L b 9,600 7,200 2,400
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S A= D
Ha: HAHE =SS (MS=SX/HLHESNE)
ool EOISTE A (B9 @2
x s . O &t o8 & & 0] Ak o -
N-Z3H.22(3H) - MREAY - BES (Z= o) (713 o) Hns2
=0l 9,600 7,200 2,400
OMEIZT YN 2 A3s B4 o
BT Ot 60,0002 * 162 *43] 3,840
OMBIZX HL=X OASF 0|
60,0002 * 1284 x83| 5,760
04 = HI5Hoi bl 5,000 0 5,000
=0 & 5,000 0 5,000
OXIGASI B HE KRB of 284 (2018
E TWOF LKA E A S5,000,0008 x4 5,000
203 YLEHI 2,000 2,000 0
03 AHZZYREZY] 2,000 2,000 0
=004 2,000 2,000 0
OSTAZ g2 =3 2,000, 0008 *14] 2,000
NEWGEES-EPIES- 104,500 102,000 2,500
= 6,000
Al 98,500
201 Yur2YHl 30,000 28,200 1,800
01 AtR2lH| 30,000 28,200 1,800
=004 30,000 28,200 1,800
ONSAE SR M (HE, AR) 3o+Y
100,0002! * 15% *43] 6,000
OSeSHHE22 AN 2|
112,000,002 523 24,000
202 Oft 1,200 600 600
01 2ol 1,200 600 600
=004 1,200 600 600
OXSASI=X H=0HE L NAHa &
29/ 01 bl 60,0002 *5% *43| 1,200
01 YprEaz 2,800 2,700 100
09 BAAHIZAZ 2,800 2,700 100
=04 2,800 2,700 100
OXSAASISZEOAM 42 A B0
60,0001 12 +103l 600
ONSAS BRI A2e B+
50,0002 * 162 x23] 1,600
OXNAAMB SEEAM H20H3l &40l
60,0008 *5% 22 600
307 9I2H0IH 70,500 70,500 0
= 6,000
Al 64,500
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SN A= D
o HAHE SNSW(ASSX/FHLHSKE)
Sl FOI= XA CERL
< = - Oll &F o & E 0 A oA =
AeZE-H2A(ZH) - MRAY - BES (Z= o) (713 o) HnsZ
02 BILNTHAYRE 10,000 0,000
= 0 4 10,000 10,000 0
Oolz2s DS % 0|2 ZY A
2,000,000 *55 It 10,000
03 BIHTHYBSYHEE 60,500 60,500 0
= 6.000
Al 54,500
=0 & 60,500 60,500 0
= 6.000
Al 54,500
O M EZE M 2SSt
54,500, 00021 * 174 4 54,500
ONSMSZE M 42HE 012AY|
500,000 * 1%+ 128 6.000
= 6.000
EEIPIEEIN- 7.000 7,000 0
307 BI2tolE 7.000 7,000 0
02 BILNTHAYRE 7,000 7.000 0
= 0 4 7.000 7,000 0
OMslZTe & Jga S =&
7,000,000%! *13| 7,000
SIS XA B4RSH X 11,000 0 11,000
307 9I2H0IH 11,000 0 1,000
1 MBS T MYREE 1,000 0 11,000
=0l & 11,000 0 1,000
OABIZSXIAE BAXHALSIZ XA B4
Sl X 11,000,0008 14! 11,000
S50 MR 6.800 6,680 120
201 et gl 400 280 120
01 A2yl 400 280 120
=0 4 400 280 120
OL%0l o, 84 AAIRS HasY
10,0002 4% #13] 400
01 YerEaz 3,400 3,400 0
01 AMEIEEX262 3,400 3,400 0
=0 & 3,400 3,400 0
O Xt &0l 20,0002 *50% 1,000
OL9 2 JHE 408 ALK ZH
1,200,000% +272 2,400
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SM: AtSI =X
M HUNE BASH(MSBA/FHAHSNR)
Erol: ZFOI=X B CER-E
SH-EH. (AN NRANY - B o) ) HDE2
307  glztol A 3,000 3,000 0
01 A=Y =4l 3,000 3,000 0
= 0l & 3,000 3,000 0
Ok=9o Xz XA 500,000& x6%H » 13| 3,000
Lol SRAL 29 915,221 871,417 43,804
= 640,654
= 274,567
307 QIztol M 915,221 871,417 43,804
= 640,654
= 274,567
10 ASISEXNAIZHER2IHEL 915,221 871,417 43,804
= 640,654
= 274,567
= Ol & 915,221 871,417 43,804
= 640,654
= 274,567
OL=90 EXAE 23|
915,221,000& = 1JH 2 915,221
= 640,654
& 274,567
=0 SXAE JIsEd 221,746 210,980 10,766
= 110,873
= 55,437
Al 55,436
402 QIZ2HX=0l M 221,746 210,980 10,766
110,873
= 55,437
Al 55,436
02 QUAT2AMEEZ(0IXTHA) 221,746 210,980 10,766
= 110,873
= 55,437
Al 55,436
= 0l & 221,746 210,980 10,766
= 110,873
= 55,437
Al 55,436
OL=02 sSIAE JIs2d 221,746
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SEAM: AMISK B
B HOME 2NSA (NN /HAHENR)
Erol: ZFOI=X B CER-E
SN BB S(BH) - MBAY - BaS ggi) @(ijf;ﬁ% HRE2
—Saus, SENES ZA 2L A0 of
M HHZ2A 221,746,000& * 14! 221,746
= 110,873
== 55,437
Al 55,436
=0 SXAMNE SAHA SEEE 14,880 14,880 0
== 7,440
Al 7,440
307 212tol A 14,880 14,880 0
== 7,440
Al 7,440
10 MISXNAEHIE2IHES 14,880 14,880 0
== 7,440
Al 7,440
= 0l & 14,880 14,880 0
== 7,440
Al 7,440
OkL=0 SXNAME BAL SE€E
14,880,000& *1JH & 14,880
== 7,440
Al 7,440
K GAS HHIASEXFAFS 1,151,000 1,000,000 151,000
Fag 805,700
= 103,590
Al 241,710
308 XAXESHMSOIA 1,151,000 1,000,000 151,000
Fag 805,700
== 103,590
Al 241,710
10 SI2SHHSHE & EP EAIS Y 1,151,000 1,000,000 151,000
rag 805,700
== 103,590
Al 241,710
= 0l & 1,151,000 1,000,000 151,000
Fag 805,700
== 103,590
Al 241,710
OXYGAS MHIA EXAY
1,151,000, 000 * 14! 1,151,000
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SM: AtSI =X
M HUNE BASH(MSBA/FHAHSNR)
Crol: FRIZ T EA el a e
SH-EH. (AN NRANY - B o) ) s
rax 805,700
= 103,590
Al 241,710
MIZ2R2HE XA 1,095,990 1,084,140 11,850
2 879,990
Al 216,000
301 LErEAF 1,095,990 1,084,140 11,850
= 879,990
Al 216,000
08 AN =RRIAEBLS 1,095,990 1,084,140 11,850
= 879,990
Al 216,000
= 0l & 1,095,990 1,084,140 11,850
= 879,990
Al 216,000
OMIIEXAIE A=2R2RE
120,000 x150H 123 216,000
OMNI=RLE 2 356,776 +x175H x12& 749,230
= 749,230
OAMNI=2L 3 I SH| 296,475 x122H 36,170
= 36,170
OAMNI=2A W SHI 540,514& x175H 94,590
= 94,590
M3 SEX & 272X SHL A 20,000 0 20,000
= 20,000
402 QU2tXp=20lM 20,000 0 20,000
= 20,000
02 QAT 2AILEX(0I™THA) 20,000 0 20,000
== 20,000
= 0l & 20,000 0 20,000
= 20,000
O&ao0l=2&d Xz JIsE2 20,000,000 14 20,000
= 20,000
IfEEAL € XN (MI=SX/BEE) 3,489,370 3,064,270 425,100
= 5,000
Al 3,484,370
I=rIBXNS HSBE =4 3,489,370 3,064,270 425,100
& 5,000
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SN ALBI= XD
Hau: RjpeEoel 2 N (MI=X/2E)
Sell BARBLS WSEE =4 (St & 8)
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
Al 3,484,370
2019 HAXE 7,160 5,160 2,000
201 et 6,000 4,000 2,000
01 At a2l 6,000 4,000 2,000
=0 4 6,000 4,000 2,000
2OIEY HART ARES 7Y
1,500,0002 *43] 6,000
301 YstzaZ 1,160 1,160 0
09 BAAHIEAS 1,160 1,160 0
=0 & 1,160 1,160 0
OBEY A iFotl 24
20,0008 18 *13l 360
OBZY A B4 24 50,0008 162 13] 800
BEIE L 2ECH Y 3,098,250 2,941,110 157,140
202 01l 900 360 540
01 2UhoiHl 900 360 540
=0 4 900 360 540
OR2Y@xEx ZA0H 60,0008 «3% +53] 900
301 YstzaZ 2,891,200 2,764,600 126,600
01 ASIRE=AHZ 2,891,200 2,764,600 126,600
=0 4 2,891,200 2,764,600 126,600
OFMRTN ¥ FNBEUAT Fo+Y
100,000 +2, 360 * 1274 & 2,832,000
OBHRIN UL 2NS2UAT ALDI2
2 300,0002 *100% 30,000
OSYRTR, WIXA 85 K2 L 9
200,0002 *18% 23 7,200
ON4AS ZARBL M % 9A=
200,0002 *110% 22,000
307 ©I2+0lH 206, 150 176, 150 30,000
02 BIZHFMAYRE 41,250 36,250 5,000
=0 4 41,250 36,250 5,000
O4+ZHs L 8BS 2,850,0008 « 104 £ 2,850
OLetArY 8 22l s=2=2
26,900,000 * 14} 26,900
O6.25&8 S A JIEE Hat 2 2ol
750,000% *43] 3,000
05.18 R4 X3 JI=AR 8,500,002 13 8,500
03 BIZtEAYYSYH2E 105,000 93,000 12,000
=0 & 105,000 93,000 12,000
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SN

At = Xl ot

Fu: FNEEel & NI (MI=EX/EE)
22 FVNRIENS HSSE =4 (o2&
x s . 0 & o rSRER Page -
SA B S(BH) - MEMY - BES iz BT BlRE2
OUBNESZAREs =X 3
13,680,000 * 100 2 13,680
OUstd===Z0I%ee =& AKX =
12,680,000 » 10 2 12,680
Olgtaolz=Za =& AMXE
13,680,000 1 £ 13,680
OoHstE32xta =&AKX 2
16,900,000 » 104 2 16,900
Ol =g M 83 =&AIXZ
14,730,000& 100 2 14,730
O6. 25882t R3Xs =& AKX E
13,560,000 * 104 2 13,560
Ol =E+d R =& a =& X3
5,280,000 * 10 2 5,280
CEEEE R3X3 =&KX
9,490,000 =10 2 9,490
O=&AMMEE=Z2 3 5,000,000& =14 2 5,000
04 QUZLHAIAIS EX 59,900 46,900 13,000
= Off & 59,900 46,900 13,000
06.258d HMe9=E SEal & HAXA
5,000,000& x13] 5,000
OE=HH It At XI&
2,237,500 *8H Et X 17,900
O=sg & AHHI 7,000,000& =13l 7,000
Ozl =83 H=F3| 10,000, 000& 13| 10,000
O3.1&2 1004 JIE A 20,000,000&*13] 20,000
SERSARSASHIXNZ 5,000 5,000 0
= 5,000
307 giztold 5,000 5,000 0
< 5,000
01 =224l 5,000 5,000 0
= 5,000
= 0fl & 5,000 5,000 0
& 5,000
O=gR3h &5 =24l N
250,000& »20H 5,000
& 5,000
2E:=Xz2 29 ¢ 2 65,000 65,000 0
307 giztold 65,000 65,000 0
05 QZRAES 65,000 65,000 0
= Off & 65,000 65,000 0
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S A= D
Ha: 2otzEze ¥ N (MESX/28)

@2 SIHRENS NR3E =4 (cte®
SH-EH. (AN NRANY - B (o) ) HDE2
O2s=XNsa 29 2 22|
65,000,000 * 104 2 65,000
SSAdae 3,000 23,000 A 20,000
401 AI&BIZ =208 3,000 3,000 0
01 Al&HI 3,000 3,000 0
= 0 &F 3,000 3,000 0
O8EANE E= 3,000,000 =14 3,000
S23¥ =4 300,000 25,000 275,000
401 A&BIZ =208 300,000 25,000 275,000
01 Al&HI 300,000 25,000 275,000
= 0ff &F 300,000 25,000 275,000
Os=23& gz FUISA
300,000,000 14! 300,000
3652 Lictate HEER 29 10,960 0 10,960
201  et2g| 6,960 0 6,960
02 =294l 6,960 0 6,960
= 0l & 6,960 0 6,960
Oz=32 22 Jtatl 580,000& «12& 6,960
206 M=l 4,000 0 4,000
01 M=zl 4,000 0 4,000
= 0l & 4,000 0 4,000
O&0 € HZ 22 4,000,000 =14 4,000
NASES M8 XA (MISK/IEZHEEE) 31,296,870 30,282,169 1,014,701
= 23,623,482
s 290,500
= 2,953,356
Al 4,429,532
HASE N 31,296,870 30,282,169 1,014,701
= 23,623,482
s 290,500
= 2,953,356
Al 4,429,532
MIISXZ SAL E82Y 16,800 16,800 0
& 8,400
Al 8,400
307  gIz2tol A 16,800 16,800 0
= 8,400
Al 8,400
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7‘“&\” HNASE M8 HHEXNY(MISX/IN=HEEF)
el HAsSE KA CEERED)
. s . 01 &t o &S 0 A o -
SA B (3) - NSAY - BES e e HRE2
10 At2IEXAELEE2ZHEX 16,800 16,800 0
= 8,400
Al 8,400
= Ofl &F 16,800 16,800 0
= 8,400
Al 8,400
OAMZEX 2 SAL EE€E
16,800, 000& * 14 16,800
= 8,400
Al 8,400
Mal=X22F 697,626 692,626 5,000
307 giztold 697,626 692,626 5,000
05 2HRAES 366,313 356,313 10,000
= Ofl & 366,313 356,313 10,000
OMIEX2 2HHI(ZABSE A =S 2)
366,313,000 » 14 366,313
10 MIAZEXNANEHER2SIHIEES 331,313 331,313 0
= 0fl &F 331,313 331,313 0
OAMBEXZ 2LH (= SEAE =X )
331,313,000 100 £ 331,313
AMEIEX2 JIsEH 30,000 0 30,000
402 QIZtRrE0l M 30,000 0 30,000
01 QU2T2 AL 2 (XEAITHA ) 30,000 0 30,000
= Ofl & 30,000 0 30,000
OXdEEAI=ERNZ JIsE2L
30,000,000* 14! 30,000
SEIA2AC TR 15,260 10,080 5,180
201 eI 2,000 0 2,000
01 AtR2Zeldl 2,000 0 2,000
= 0fl &F 2,000 0 2,000
OSgxEMael EF =3 AREF P&
1,000, 000& 274 & 2,000
202 04| 13,260 10,080 3,180
01 LAY 13,260 10,080 3,180
= Ofl &F 13,260 10,080 3,180
OsSgxAze dRFX 2O
20,0003 x17H 52«6 10,200
OSEXE A2 RFE 22/0iH|
60,0003 x17H +33| 3,060
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SN

HE: HASS M SHFNA(MNISN/IIZHEDE)
Sl HASS X8 (2@
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
HASE SXST 381,220 504,876 ~123,656
201 sty 5,320 4,276 1,044
01 At el 2,800 1,960 840
= 0] & 2,800 1,960 840
OMEBEARS 319 +5
100,000 +7 43| 2,800
02 2z 2,520 2,316 204
=0 4t 2,520 2,316 204
OSXHAR(e-IRISH) ZHEXNAM 23
42021 +500 Kl CH * 12 2,520
202 Oft 900 600 300
01 2UHoidl 900 600 300
= 0l & 900 600 300
OJNZE4+SN YLEX HAEF 0oIY
60,0002 +52 +33] 900
01 Y3 375,000 500,000 A125,000
01 ABIBIHAHZ 375,000 500,000 A125,000
=0 4 375,000 500,000 A125,000
Ox&A JZMERY 4BOFY X
250,000%! *2002] 67 300,000
O#®A HASS D= 7y NA(DS
S Ysta) 300, 0002 *250&] 75,000
X2 ALY 1,130,328 1,168,526 £38,198
2 904,262
= 67,820
Al 158,246
101 Q124 447,128 545,326 £98,198
357,702
= 26,828
Al 62,598
04 JNAHB2RNSES 447,128 545,326 £98,198
2 357,702
= 26,828
Al 62,508
=0 4 447,128 545,326 £98,198
2 357,702
= 26,828
Al 62,598
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MNASS M8 I (MISX/IZMEBEE)
HASEE N e = A
Kems.a9(3) HSAY - Bas (o) ) s
OXEZ2 AL 0 A 2124d|
447,128,000 14! 447,128
= 357,702
= 26,828
Al 62,598
201  LBt249| 9,000 9,000
= 7,200
& 540
Al 1,260
01 At 2eltl 9,000 9,000
= 7,200
= 540
Al 1,260
= 0l & 9,000 9,000
= 7,200
= 540
Al 1,260
ORI DI 60,0002 x32 *33] 540
= 432
= 32
Al 76
ONE2ZANY #FYSEH (4NSHSEE
) 8,460,000 *14] 8,460
= 6,768
= 508
Al 1,184
202  Oibl 7,200 7,200
= 5,760
=~ 432
Al 1,008
01 SUWAYI 7,200 7,200
= 5,760
= 432
Al 1,008
= Ol & 7,200 7,200
= 5,760
= 432
Al 1,008
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SEAM: AMISK B
H: HASE ME OHEXS(AMIEX /I =MEZE)
o9 HASE X CERT
SN FHE B (BA) - MEAY - AR (ggj) @(ijf;lﬁ% HRE2
OXE=% SX&o & AAE(WE)
200,000 »3H x12& 7,200
= 5,760
== 432
Al 1,008
206 M Z&H| 6,000 6,000 0
= 4,800
== 360
Al 840
01 MZH| 6,000 6,000 0
= 4,800
= 360
Al 840
=0 4 6,000 6,000 0
= 4,800
== 360
Al 840
OXNE22AIY HBH (4HSHSZE)
250,000& #2404 A 6,000
= 4,800
== 360
Al 840
307 QIz2tol & 661,000 601,000 60,000
= 528,800
== 39,660
Al 92,540
01 =L P = H| 1,000 1,000 0
= 800
== 60
Al 140
= 0l & 1,000 1,000 0
=2 800
== 60
Al 140
OX&=Z2 X Mol &€& X Hl X3
1,000, 000& * 14! 1,000
= 800
== 60
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HASES ME OHMHXI (MBI /I ZMELE)
MAss X (e &
M- =3 S92 (3) - HEAY - a2 (ggj) @(ijf;lﬁ% HRE2
Al 140
05 QIt?E= 660,000 600,000 60,000
= 528,000
= 39,600
Al 92,400
= 0l & 660,000 600,000 60,000
= 528,000
== 39,600
Al 92,400
OXEZZ ALY Q2+ EHY|
660,000,000& * 14! 660,000
= 528,000
= 39,600
Al 92,400
g&d32 91,162 0 91,162
= 72,929
== 5,470
Al 12,763
301 Qietg al=a 91,162 0 91,162
= 72,929
== 5,470
Al 12,763
01 AISIEXEE %062 91, 162 0 91,162
= 72,929
= 5,470
Al 12,763
= 0ff & 91,162 0 91,162
= 72,929
= 5,470
Al 12,763
OXe&EdHAZ 91,162,000 =14 91,162
= 72,929
== 5,470
Al 12,763
HNBUE 2 276, 141 271,129 5,012
= 160,936
== 22,991
Al 92,214




SM: AtSI =X
M HASE MB OENA(NIEN/IIZMBE)
o9 HASE X CERT
SA BB (3AH) - HRAY - BA= o) ) HDE 2
307  glztol A 276,141 271,129 5,012
= 160,936
& 22,991
Al 92,214
10 AMSSAAEEI2GHES 276,141 271,129 5,012
= 160,936
< 22,991
Al 92,214
= 0ff &F 276,141 271,129 5,012
= 160,936
= 22,991
Al 92,214
OX<SREdH ISl
276,141,000 = 1JH 4 276,141
= 160,936
= 22,991
Al 92,214
XNSXedE 2308 23,275 0 23,275
= 16,292
= 2,095
Al 4,888
402 QIZ2EXrE0l M 23,275 0 23,275
16,292
= 2,095
Al 4,888
02 QAT 2AISEZ(0I™THIA) 23,275 0 28,275
= 16,292
= 2,095
Al 4,888
= 0l & 23,275 0 23,275
= 16,292
= 2,095
Al 4,888
OXGXteHE &3l
23,275,000 *14] 28,275
= 16,292
& 2,095
Al 4,888
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Y HASS ME OHEHXA(ASSX /I ZMESF)
o9 HASE X CERT
SA BB (3AH) - HRAY - BA= (o) ) HDE 2
AHE Abell 22l 26,674 26,674 0
= 13,337
Al 13,337
307  QI2tol A 26,674 26,674 0
= 13,337
Al 13,337
10 AL STAEEHE2ZHES 26,674 26,674 0
= 13,337
Al 13,337
= 0l & 26,674 26,674 0
& 13,337
Al 13,337
OXHE ALl 22l 2,222,833 x1H x12& 26,674
= 13,337
Al 13,337
NAXNESHHSAAEE S 5,040 5,040 0
& 2,520
Al 2,520
307  gl2tol A 5,040 5,040 0
& 2,520
Al 2,520
10 AMISAAEEHI2GHES 5,040 5,040 0
& 2,520
Al 2,520
= 0l & 5,040 5,040 0
& 2,520
Al 2,520
OXNGTEHEH BEMLE EEE
70,000 x6H 123 5,040
== 2,520
Al 2,520
JbAL 2t 22 S 2200 ALY 415,000 310,000 105,000
iy 290,500
= 37,350
Al 87,150
308 XXESHXMSOIH 415,000 310,000 105,000
s 290,500
= 37,350
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A AR S X

HM: HASE NP OEND(MSEK/IEMSEE)
o9 HASE X CERT
SA BB (3AH) - HRAY - BA= (o) ) HDE 2
308 XXEXMSOIA Al 87,150
10 I 2ASHHSHE AR SE A LI 415,000 310,000 105,000
s 290,500
= 37,350
Al 87,150
= 0l & 415,000 310,000 105,000
as 290,500
= 37,350
Al 87,150
OJAIZtE 22 ER0IAY
415,000,000 14! 415,000
as 290,500
= 37,350
Al 87,150
FeLda 242X 71,020 406,992 A 335,972
= 71,020
301 LerEa3 71,020 406,992 A 335,972
= 71,020
01 AMSEFE=HI3 71,020 406,992 AN 335,972
= 71,020
= 0l & 71,020 406,992 A 335,972
= 71,020
OMAS 22 =il XA
71,020,000 *14] 71,020
= 71,020
MAH SO 21,402,613 21,520,370 AN117,757
= 17,122,091
& 2,140,261
Al 2,140,261
301 LerEa3g 21,402,613 21,520,370 AN117,757
= 17,122,091
= 2,140,261
Al 2,140,261
01 AMEFHHI3 21,402,613 21,520,370 A117,757
= 17,122,091
= 2,140,261
Al 2,140,261
= 0l & 21,402,613 21,520,370 AN117,757
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(2o ae
2 (31) - MY ggj) @(LJME,;L%% nEEn
= 17,122,091
= 2,140,261
Al 2,140,261
21,402,613,000& =14 21,402,613
= 17,122,091
= 2,140,261
Al 2,140,261
0 171,579 132,750 38,829
= 137,263
= 17,158
Al 17,158
ot A= 171,579 132,750 38,829
= 137,263
& 17,158
Al 17,158
171,579 132,750 38,829
= 137,263
== 17,158
Al 17,158
= 0l & 171,579 132,750 38,829
= 137,263
== 17,158
Al 17,158
171,579,000 =14 171,579
= 137,263
== 17,158
Al 17,158
5,982,541 4,689,280 1,293,261
= 4,786,033
== 598,254
Al 598,254
ot A= 5,182,541 3,939,922 1,242,619
= 4,146,033
= 518,254
Al 518,254
5,182,541 3,939,922 1,242,619
2 4,146,033
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SM: AtSI =X
M HASE MB OENA(NIEN/IIZMBE)
o9 HASE X CERT
SH-EH. (AN NRANY - B o) ) HDE2
01 A2EZH 03 < 518,254
Al 518,254
= 0ff &F 5,182,541 3,939,922 1,242,619
= 4,146,033
= 518,254
Al 518,254
OJdIzZ=2 X F=H=0 5,182,541,000& 14 5,182,541
= 4,146,033
= 518,254
Al 518,254
308 AXHHMSOIH 800,000 749,358 50,642
= 640,000
= 80,000
Al 80,000
10 SII2SOHUEZaELAE ALS I 800,000 749,358 50,642
= 640,000
= 80,000
Al 80,000
= 0l &F 800,000 749,358 50,642
= 640,000
= 80,000
Al 80,000
OJdlz=2 X = 8220
800,000& *1,000H 800,000
= 640,000
= 80,000
Al 80,000
nEss0 81,520 76,529 4,991
308 XXESHXMSOIH 81,520 76,529 4,991
08 wWIINIZ0HUSE=x 81,520 76,529 4,991
= 0l & 81,520 76,529 4,991
OJlz==2X nE=0 (LX)
81,520, 0003 *14] 81,520
== St wsdl ¥ H= XA 11,250 12,250 A 1,000
= 11,250
101 o124l 9,850 10,780 A 930
= 9,850
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SEAM: AMISK B
H: HASE ME OHEXS(AMIEX /I =MEZE)
o9 HASE X CERT
SN BB S(BH) - MBAY - BaS o @(ijf;lﬁ% HRE2
04 JI2ZtHZ2Z2XNSE S 9,850 10,780 A 930
== 9,850
= 0ff &F 9,850 10,780 A 930
== 9,850
OXF10 WsH X 2AHH S
1,970,000& «5H 9,850
== 9,850
201 282 A Y| 1,400 1,470 AT0
== 1,400
01 Ar®2telt] 1,400 1,470 AT0
& 1,400
= 0l & 1,400 1,470 AT0
== 1,400
On=H XA #EZEH| 1,400
— Al 200,000& *1JH 2~ 200
== 200
—SHES 50,000& 240 2~ 1,200
= 1,200
22s8Us =39 €42 N (UHLIISEH) 19,742 16,600 3,142
= 15,793
= 1,185
Al 2,764
307 Q12t0| A 19,742 16,600 3,142
15,793
= 1,185
Al 2,764
11 AMISIAMGEX 19,742 16,600 3,142
= 15,793
o= 1,185
Al 2,764
= 0l & 19,742 16,600 3,142
= 15,793
== 1,185
Al 2,764
ougrsIssd &2 19,742 ,000& =14 19,742
= 15,793
= 1,185
Al 2,764




MASES 2 (e &
.ol (31H) A B A= (ggj) @(ijf;ﬁ% HRE2
Ae ==X 62,335 82,095 N~ 19,760

= 49,868
= 3,740
Al 8,727
oI2tol & 62,335 82,095 A 19,760
49,868
== 3,740
Al 8,727
AT SXAIE E = 62,335 82,095 AN 19,760
= 49,868
= 3,740
Al 8,727
= 0l A 62,335 82,095 A 19,760
= 49,868
== 3,740
Al 8,727
JAIN=SsSE 62,335,000 14! 62,335
= 49,868
== 3,740
Al 8,727
cZ2s8EUse ==X Ex2 & (3 215,355 253,310 N 37,955
1)
= 172,284
== 12,921
Al 30, 150
o12tol & 215,355 253,310 N 37,955
= 172,284
== 12,921
Al 30, 150
AZISXAIE 2 X 215,355 253,310 N 37,955
= 172,284
= 12,921
Al 30, 150
= 0l & 215,355 253,310 N 37,955
= 172,284
== 12,921
Al 30, 150
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M S OFA K| 2

i
40

fa
o

LS (BH) - HEAY - BAS ggi) @(ijf;ﬁ% HRE2
Na S& | A=
215,355,000& * 14! 215,355
= 172,284
== 12,921
Al 30, 150
=z A2 2 A (#3ds s 143,389 59,242 84,147
= 114,711
= 8,604
Al 20,074
o12t0| & 143,389 59,242 84,147
114,711
== 8,604
Al 20,074
AMSISXAIE B = 143,389 59,242 84,147
= 114,711
8,604
Al 20,074
= 0l A 143,389 59,242 84,147
= 114,711
== 8,604
Al 20,074
HEZUAISSE HAH2
143,389,000 =14 143,389
= 114,711
== 8,604
Al 20,074
BsNIE 27,000 27,000 0
ol 27,000 27,000 0
SISAAIEEX 27,000 27,000 0
27,000 27,000 0
ol oy = o Pl
3,750& *600AI CH =121 & 27,000
(AHZI 22X /<0 - HAad) 1,205,913 7,503,512 N6,297,599
= 120,000
= 60,000
Al 1,025,913
Q2N A A 1,205,913 7,503,512 N6,297,599
= 120,000
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SEAM: AMISK B
. 21 oZet REH(AMFEX /20 - HAH)
Ce: EQEJNA A (cte ®
SN FHE B (BA) - MEAY - AR ggi) @(ijf;ﬁ% HRE2
= 60,000
Al 1,025,913
SALAIE FHEXY F0X3 AL 101,500 100,600 900
202 0| 1,500 600 900
01 2L 1,500 600 900
=0f &t 1,500 600 900
ORAMANE FHXS FoSANY 2
?IEt 2ASE Y| 60,000& x5 * 1,500
401  AlEHIZL 204 100,000 100,000 0
01 Al&HI| 100,000 100,000 0
= 0l & 100,000 100,000 0
O2JLX =HIXY F2AXS AL
50,000, 000& =24 A~ 100,000
SI&Z HE ALY 240,000 240,000 0
= 120,000
= 60,000
Al 60,000
401 AEBIZL LY 240,000 240,000 0
= 120,000
= 60,000
Al 60,000
01 Al&H| 240,000 240,000 0
= 120,000
== 60,000
Al 60,000
= 0ff & 240,000 240,000 0
= 120,000
== 60,000
Al 60,000
OzdZ =0 2 uAH AFY 240,000
—Col=s4 500 2H 32,000, 000& *5CH 160,000
= 80,000
== 40,000
Al 40,000
—SH=& F0 2H 16,000, 000& *5CH 80,000
= 40,000
c 20,000
Al 20,000
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2N AS =X B
Y 22X oZet E(AESK/ 0 - HAad)
©@e: EREJONS ALY (cte ®
. s . 01 &t o &S 0 A o -
SN -3 .42 (3H) - HEMNY - BES (Z= o) (713 o) Hnsz
SAMANE(BREX, 22 )29 714,413 1,032,912 A 318,499
101 ol A4l 49,549 50,037 A 488
04 JI2ZtHZZ2NSES 49,549 50,037 N 488
= 0l A 49,549 50,037 AN 488
Ost&ad o2 29,348
A== 73,070& *1H 212 x12J4 & 18,414
- =539 73,070& x 1Y x52F 3,800
- 5429 109,605% »1H x48 5,262
— =0HA3 18,413,000& *4.5% 829
— HL=2E 18,413,000& *3.12% 575
- a2 18,413,000*1.5% 277
— MUEE 18,413,000*0.8% 148
— A RLYEE 574,450%7 .38% 43
OZ2L LXK HE e 20,201
AR=E=] 66,8003 x4 x75! 20,040
— MUEE 20,040,000*0.8% 161
201  2Et23Y| 328,864 329,564 AT700
01 At222lyl 87,080 87,080 0
= 0ff &F 87,080 87,080 0
O33EX, 22 dA4EE ¢
450,000 *200 A =128 10,800
O33EXN M=o g 228 ¢
900,000& *33| 2,700
O3dEX, 22 224 225 2Y
200,000& x6H *33] 3,600
ORI USsH (A 28 UK)
300,000& *13] 300
OF2=d 228 M 500,000& *x23] 1,000
OF2zd, ALK R0 849
130,000& *34 A~ x 1204 & 4,680
OF23& &I, a8 JtA A2 HOIE ©oF
dae 849 10,000,000& *43] 40,000
OF2Sd &z ™AL EA
2,000,000& x12& 24,000
02 =294l 241,784 242,484 AT00
= 0ff &F 241,784 242,484 AT700
OS2 & 233 HIR2S
9,000,000& x12& 108,000
O33BXN ¥ 233 2LaHelAd Fa
1,500,000 *204 A 23] 6,000
OF2s& ItA 2¢ 10,000,000& x12& 120,000
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2N AS =X B
Y 22X oZet E(AESK/ 0 - HAad)
©@e: EREJONS ALY (cte ®
. s . 01 &t o &S 0 A o -
SN -3 .42 (3H) - HEMNY - BES (Z= o) (713 o) Hnsz
O33EXN ¥ =233 S8 s
107,000& = 12& 1,284
O33IXN HM=z=&HY RFUH 450,000& *23] 900
O38xEgd 75 7 150,000& *12& 1,800
O38xE MA=13 100, 000& 23] 200
OF2S3 Mot 3 300,000& x12& 3,600
206 M =4l 11,000 10,971 29
01 T Hl 11,000 10,971 29
= 0l AF 11,000 10,971 29
O33 I &0 2 5,000,000& x13] 5,000
OFE2S& UPS ¢ 2,000,000& =3CH 6,000
401 Al&HIZL 20U 325,000 642,340 A 317,340
01 AI&HI 325,000 642,340 AN 317,340
= 0l & 325,000 642,340 A 317,340
O3 ZX A& X I 5,000,000& * 14 5,000
OZ3IX 2ZHII] Ar 25,000,000& *23] 50,000
OSdAZXN 8224+ A 30,000,000 *14] 30,000
OF2zd &2 X2
100,000, 000& =14 100,000
OFZ2s3 A4 Xl 10,000, 0003 * 14 10,000
O3 soty orxle & &xX
80,000, 000& *14] 80,000
O3B &g B 50,000, 0002 =14 50,000
SAEIX XAHHEX ZHAS 150,000 0 150,000
401 AIEHIZ 20 150,000 0 150,000
01 Al&H| 150,000 0 150,000
= 0ff &F 150,000 0 150,000
SHEIX NAEX LAY
150,000, 000& * 14 150,000
HHSHAHI(AFSI =X ) (IIEHIIE) 336,005 292,299 43,706
ol 2 AHY| 161,097 145,789 15,308
ol 2| 161,097 145,789 15,308
101 o144l 161,097 145,789 15,308
01 2= 161,097 142,707 18,390
= 0ff &F 161,097 142,707 18,390
OAZ2te 222Y
10,2993 *33H x30A| 2+ x12& 122,353
Osg22sd(z234)
82,786 x4 x117L 38,744




SM: ASISX
= HE2G AU (A S X)) (J1EHIIE
Ehelr D123l (o2&
x s . 0 & o rSRER Page -
SA B S(BH) - MEMY - BES Sz T BlRE2
Jl=34l 174,908 146,510 28,398
Jl23Hl 174,908 146,510 28,398
201 et 4dH 87,728 69,290 18,438
01 AtR2Zeltl 87,728 69,290 18,438
= Off & 87,728 69,290 18,438
O=As8X 7 22,0003 32 A +128 8,448
OZe2lHI EY ¥ =8 A
350,000 54! x43] 7,000
O=SAI(ZetxEg) EW 2 8 X
500,000& *44! 43 8,000
OMBERE 2423 22 800,000& 128 9,600
OMEE &I =84 200,000& *63| 1,200
OFE+E A2, X)) 7Y
90,000& 128 1,080
OZX 2 =gl 8,000& x10H x15& 128 14,400
Ogat =4y 60,0003 » 1 +3652 21,900
oga A 60,0003 x 1117 7,020
O=SXAM otHHE E2HI M
5,000& =400 2,000
O=sXNAM g8 82 M
70,000 244 A %13] 1,680
Og BA L YA el 2|
300, 000& » 123 3,600
Ot ga 2¢ 20,000 *450 23] 1,800
202 Ol 81,600 72,000 9,600
01 S 81,600 72,000 9,600
= 0fl & 81,600 72,000 9,600
OJlEgesH B B2 ofy
20,0003 *34F «10 « 128 81,600
203 SR FAH 5,580 5,220 360
04 ENSIEHFFAH 5,580 5,220 360
= Off & 5,580 5,220 360
ORNE2ZE 42ZFH| 465,000 123 5,580
MRS (ASISX ) (MBS /I ZHESEEE) 3,426,601 3,511,416 A 84,815
HEHHK = 3,426,601 3,511,416 A 84,815
LHE Hel 3,426,601 3,511,416 A 84,815
701 JIEtHSHES 3,426,601 3,511,416 A 84,815
01 JIEtAHNEEZ 3,266,594 3,351,416 A 84,822
= 0fl & 3,266,594 3,351,416 A 84,822
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SN

At = Xl ot

E: YRS (MBS (MESX /I ZHELT)
Sl W HHK S (et @
x s o Ol &F A o Of Ao -
SN EH .S (3A) - NPAY - BAS (ZE o) (513 01) HREs2
SEEECIEEEEEE
3,266,594,000& » 14 3,266,594
02 SIEEEYHILYTES 160,007 160,000 7
= 0l &t 160,007 160,000 7
OFIANE 445 SN B3
92,016,000& » 14| 92,016
OFAANB St+= SN HS53
67,991,0003 » 14| 67,991
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